Solicitation No	o.: B-11-059-CM	1 Contract No.: C-12-003-C			4			Company, Inc. stone st 78154							
		P. O. BOX 2449 SAN ANTONIO, TEXT TABULATION OF	Construction, Corp. 12 Sunset Drive Shoals, Texas 78654						Construction Box 200203 nio, Texas 78220	Lewis Contractors, Inc. P. O. Box 1623 Bertram, Texas 78605					
PROPOSAL:	PROPOSAL: Verano PH 2 Sanita Lift Station # 1 & 1		rano PH 2 Sanitary Sewer Lines "A1" & "B" and Verano PH 2 station # 1 & 10-inch Force Main Project		$() \otimes ()$			Construction Con 7054 Pipestone Schertz, Texas 78				artek P.O. Antoi			
TIME &	Job # 10-1528 & 10-1529 E & 02:00 P.M.			Atlas (31 Granite		Sado C				San					
DATE:	T	January 10, 2012				P. P									
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price			Unit Price		Total	Unit Price		Total	Unit Price		
SAWS J	ob No 10-	1528													
540	1	LS	Erosion & Sedimentation Controls	\$21,000.00		\$21,000.00	\$21,350.00		\$21,350.00	\$21,000.00		\$21,000.00	\$22,000.00		
550	5,739	LF	Trench Excavation Protection	\$2.00		\$11,478.00	\$3.00		\$17,217.00	\$1.50		\$8,608.50	\$1.00		
848A	1,570	LF	8" Sewer Main (open cut-all depths, incl. stubouts)	\$45.00		\$70,650.00	\$70.00		\$109,900.00	\$76.00		\$119,320.00	\$31.00		
848B	1,704		10" Sewer Main (open cut-all depths)	\$50.00		\$85,200.00	\$75.00		\$127,800.00	\$38.00	-	\$64,752.00	\$32.00		
848C	2,247		15" Sewer Main (open cut-all depths)	\$55.00		\$123,585.00	\$77.00		\$173,019.00	\$48.00		\$107,856.00	\$57.00		
848D	186	LF	16" Sewer Main (open cut-all depths)	\$100.00		\$18,600.00	\$250.00		\$46,500.00	\$95.00		\$17,670.00	\$110.00		
848E	58	LF	8" Sewer Main Installed in Casing	\$95.00		\$5,510.00	\$25.00		\$1,450.00	\$40.00		\$2,320.00	\$116.00		
856	58	LF	24" Steel Casing Pipe by Jacking, Boring or Tunneling	\$300.00		\$17,400.00	\$380.00		\$22,040.00	\$153.00		\$8,874.00	\$300.00		
02441 TS	780	LF	16" Microtunneling & 16" DI GS Pipe	\$250.00		\$195,000.00	\$425.00		\$331,500.00	\$297.00		\$231,660.00	\$600.00		
852.2A	28	EA	4" Diameter Sanitary Sewer Manhole	\$4,000.00		\$112,000.00	\$3,300.00		\$92,400.00	\$4,000.00		\$112,000.00	\$5,400.00		
852.2B	1	EA	4" Diameter Sanitary Sewer Drop Manhole	\$4,500.00		\$4,500.00	\$4,000.00		\$4,000.00	\$7,000.00		\$7,000.00	\$6,000.00		
852.2C	6	EA	6" Diameter Sanitary Sewer Manhole	\$5,000.00		\$30,000.00	\$6,000.00		\$36,000.00	\$6,300.00	-	\$37,800.00	\$7,700.00		
852.2D	2	EA	6" Diameter Sanitary Sewer Drop Manhole	\$6,000.00	_	\$12,000.00	\$6,500.00		\$13,000.00	\$7,500.00		\$15,000.00	\$8,500.00		
852.3A	220	VF	Extra Depth 4" Sanitary Sewer Manholes	\$300.00	_	\$66,000.00	\$300.00		\$66,000.00	\$330.00		\$72,600.00	\$450.00		
852.3B	111	VF	Extra Depth 6" Sanitary Sewer Manholes	\$500.00	_	\$55,500.00	\$325.00		\$36,075.00	\$680.00	-	\$75,480.00	\$750.00		
858.1A	129	LF	Concrete Encasement (8" pipe)	\$35.00		\$4,515.00	\$10.00		\$1,290.00	\$110.00		\$14,190.00	\$85.00		
858.1B	1,293	LF	Concrete Encasement (10" pipe)	\$35.00	_	\$45,255.00	\$12.00		\$15,516.00	\$115.00	-	\$148,695.00	\$90.00		
858.1C	554	LF	Concrete Encasement (15" pipe)	\$40.00	<u> </u>	\$22,160.00	\$15.00		\$8,310.00	\$125.00		\$69,250.00	\$104.00		
848/852	2	EA	Gravity Sewer Tie-Ins	\$1,500.00		\$3,000.00	\$250.00		\$500.00	\$965.00		\$1,930.00	\$2,000.00		
866	6,661	LF	Sewer Television Inspection (all pipe sizes)	\$3.00		\$19,983.00	\$3.00		\$19,983.00	\$1.60		\$10,657.60	\$1.10		
40.2.H.2 Co	S. 1,550	LF	Temporary Construction Fence	\$3.00		\$4,650.00	\$2.00		\$3,100.00	\$2.00		\$3,100.00	\$1.70		
164	15,670	SY	Revegetation	\$0.85		\$13,319.50	\$1.00		\$15,670.00	\$0.50		\$7,835.00	\$0.35		

Solicitation No.: PROPOSAL: TIME & DATE:	Lift Station # 1 & 10-inch Force Main Project Job # 10-1528 & 10-1529 TIME & 02:00 P.M. DATE: January 10, 2012		Atlas Construction, Corp. 312 Sunset Drive Granite Shoals, Texas 78654			Pesado Construction Company, Inc. 7054 Pipestone Schertz, Texas 78154				Bartek Construction P.O. Box 200203 San Antonio. Texas 78220	Lewis Contractors, Inc. P. O. Box 1623 Bertram, Texas 78605			
	Estimate	Unit of Issue	Description	Unit Price			Unit Price		Total	Unit Price		Total	Unit Price	
160 CoSA	15,670	SY	4" Topsoil	\$5.00	ge	\$78,350.00	\$1.50	ge	\$23,505.00	\$2.25	ge	\$35,257.50	\$1.00	agı
			SUBTOTAL SAWS JOB NO. 10-1528		Percentage	\$1,019,655.50		Percentage	\$1,186,125.00		Percentage	\$1,192,855.60		Percentage
SAWS Jo	b No 10-1	1529			rce			rce			rce			rce
SAWS LSG	1	LS	Lift Station # 1	\$300,000.00	Pel	\$300,000.00	\$440,000.00	Pel	\$440,000.00	\$505,000.00	Pel	\$505,000.00	\$520,000.00	Pel
540 CoSA	1	LS	Erosion & Sedimentation Controls	\$5,000.00		\$5,000.00	\$500.00		\$500.00	\$5,700.00		\$5,700.00	\$5,009.40	
2730	1,629	LF	10" HDPE Force Main	\$45.00		\$73,305.00	\$40.00		\$65,160.00	\$54.00		\$87,966.00	\$31.00	
846	1	EA	2" Sewer Air Release/Vacuum Assembly	\$3,500.00		\$3,500.00	\$3,200.00		\$3,200.00	\$4,500.00		\$4,500.00	\$2,700.00	
846	1	EA	10" Plug Valve and Box, complete	\$2,500.00		\$2,500.00	\$3,000.00		\$3,000.00	\$5,150.00		\$5,150.00	\$4,200.00	
LSG	1	EA	10" Force Main Tie-In to Existing 10" Force Main	\$2,500.00		\$2,500.00	\$925.00		\$925.00	\$2,900.00		\$2,900.00	\$2,500.00	
LSG	1	EA	2" Sch 40 PVC Water Service, w/1.5" meter &	\$2,300.00		\$2,300.00	\$923.00		\$923.00	\$2,900.00		\$2,900.00	\$2,500.00	
824/833	1,915	LF	box, 1.5" Service Tap	\$21.00		\$40,215.00	\$9.00		\$17,235.00	\$18.50		\$35,427.50	\$12.00	
02500 TS	2,226	SY	SAWS Access Rd w/8" Flex Base & 2" Type "D" HMAC	\$22.00		\$48,972.00	\$26.00		\$57,876.00	\$31.50		\$70,119.00	\$30.00	
503 CoSA	60	SY	5" Concrete Driveway	\$75.00		\$4,500.00	\$42.00		\$2,520.00	\$100.00		\$6,000.00	\$55.00	
550	3,544	LF	Trench Excavation Protection	\$1.00		\$3,544.00	\$3.00		\$10,632.00	\$5.25		\$18,606.00	\$1.00	
217 TCEQ	1	LS	Force Main Hydrostatic Testing	\$3,000.00		\$3,000.00	\$3,000.00		\$3,000.00	\$5,000.00		\$5,000.00	\$7,200.00	
340 TxDOT	7,700	SY	CPS Access Roads	\$10.00		\$77,000.00	\$16.00		\$123,200.00	\$12.50		\$96,250.00	\$17.00	
164	9,100	SY	Revegetation	\$0.85		\$7,735.00	\$1.00		\$9,100.00	\$0.50		\$4,550.00	\$0.35	
160 CoSA	9,100	SY	4" Topsoil	\$5.00		\$45,500.00	\$1.50		\$13,650.00	\$2.25		\$20,475.00	\$1.00	
103 CoSA	26	LF	Existing Curb Saws Cut & Removal	\$10.00		\$260.00	\$10.00		\$260.00	\$20.00		\$520.00	\$30.00	
			SUBTOTAL SAWS JOB NO. 10-1529			\$617,531.00			\$750,258.00			\$868,163.50		
Bid Sur	nmary													

Solicitation No.: B-11-059-C PROPOSAL: TIME & DATE:		-059-CM Contract No.: C-12-003-CM SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS Verano PH 2 Sanitary Sewer Lines "A1" & "B" and Verano PH 2 Lift Station # 1 & 10-inch Force Main Project Job # 10-1528 & 10-1529 02:00 P.M. January 10, 2012		Atlas Construction, Corp. 312 Sunset Drive Granite Shoals, Texas 78654			Pesado Construction Company, Inc. 7054 Pipestone Schertz, Texas 78154				Bartek Construction P.O. Box 200203 San Antonio. Texas 78220	Lewis Contractors, Inc. P. O. Box 1623 Bertram, Texas 78605		
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price			Unit Price		Total	Unit Price		Total	Unit Price	
			Subtotal SAWS Job No. 10-1528 (Sewer)			\$1,019,655.50			\$1,186,125.00			\$1,192,855.60		
		S	Subtotal SAWS Job No. 10-1529 (Sewer)			\$617,531.00			\$750,258.00			\$868,163.50		
		Line It	tem "A" Subtotal Base Bid (10-1528 7 10-1529)			\$1,637,186.50			\$1,936,383.00			\$2,061,019.10		
100	1	1 LS	Mobilization	\$160,000.00	9.8%	\$160,000.00	\$150,000.00	7.75%	\$150,000.00	\$110,000.00	5.3%	\$110,000.00	\$220,000.00	9.88%
101	1	l LS	Preparation of Right-of-Way	\$80,000.00	4.9%	\$80,000.00	\$50,000.00	2.58%	\$50,000.00	\$36,000.00	1.7%	\$36,000.00	\$55,000.00	2.47%
	МО	BILIZATION & PI	REPARATION OF R.O.W SUBTOTAL			\$240,000.00			\$200,000.00			\$146,000.00		
TOTAL BI			ENDUM # 1 (Line Item "A", Mobilization &			\$1,877,186.50			\$2,136,383.00			\$2,207,019.10		
CALENDA	R DAYS TO	COMPLETE				180			180			180		

[1] [2]

Solicitation No.: B-11-059-CM Contract No.: C-12-003-CM SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS PROPOSAL: Verano PH 2 Sanitary Sewer Lines "A1" & "B" and Verano PH 2 Lift Station # 1 & 10-inch Force Main Project Job # 10-1528 & 10-1529 TIME & 02:00 P.M. DATE: January 10, 2012					Pronto Sandblasting & Coating & Oil Field Services Co., Inc. 9456 South Presa San Antonio, Texas 78223				Oro Mex Construction Co., Inc. 2801 Prairie Creek Road Granite Shoals, Texas 78654	Austin Engineering Co., Inc. P. O. Box 342349 Austin, Texas 78734		
									Ō			
	Estimate Qty	Unit of Issue	Description	Total	Unit Price			Unit Price		Unit Price		Total
SAWS Jo	1											
540	1	LS	Erosion & Sedimentation Controls	\$22,000.00	\$17,000.00		\$17,000.00	\$15,000.00	\$15,000.00	\$16,500.00		\$16,500.00
550	5,739	LF	Trench Excavation Protection	\$5,739.00	\$2.00		\$11,478.00	\$3.00	\$17,217.00			\$204,021.45
848A	1,570	LF	8" Sewer Main (open cut-all depths, incl. stubouts)	\$48,670.00	\$98.00		\$153,860.00	\$80.00	\$125,600.00	\$91.00		\$142,870.00
848B	1,704	LF	10" Sewer Main (open cut-all depths)	\$54,528.00	\$123.00		\$209,592.00	\$65.00	\$110,760.00	\$42.00		\$71,568.00
848C	2,247	LF LF	15" Sewer Main (open cut-all depths)	\$128,079.00	\$123.00		\$460,635.00	\$80.00	\$179,760.00	\$115.00		\$258,405.00
848D	186	LF	16" Sewer Main (open cut-all depths)	\$128,079.00	\$203.00		\$53,196.00	\$128.00	\$23,808.00	\$250.00		\$46,500.00
848E	58	LF	8" Sewer Main Installed in Casing	\$6,728.00	\$90.00		\$5,220.00	\$50.00	\$2,900.00	\$45.00		\$2,610.00
856	58	LF	24" Steel Casing Pipe by Jacking, Boring or Tunneling	\$17,400.00	\$400.00		\$23,200.00	\$300.00	\$17,400.00	\$395.00		\$22,910.00
02441 TS	780	LF	16" Microtunneling & 16" DI GS Pipe	\$468,000.00	\$450.00		\$351,000.00	\$1,450.00	\$1,131,000.00	\$460.00		\$358,800.00
852.2A	28	EA	4" Diameter Sanitary Sewer Manhole	\$151,200.00	\$4,700.00		\$131,600.00	\$4,200.00	\$117,600.00	\$4,220.00		\$118,160.00
852.2B	1	EA	4" Diameter Sanitary Sewer Drop Manhole	\$6,000.00	\$5,800.00		\$5,800.00	\$6,000.00	\$6,000.00	\$5,500.00		\$5,500.00
852.2C	6	EA	6" Diameter Sanitary Sewer Manhole	\$46,200.00	\$9,200.00		\$55,200.00	\$6,000.00	\$36,000.00	\$4,600.00		\$27,600.00
852.2D	2	EA	6" Diameter Sanitary Sewer Drop Manhole	\$17,000.00	\$12,000.00		\$24,000.00	\$6,500.00	\$13,000.00	\$6,500.00		\$13,000.00
852.3A	220	VF	Extra Depth 4" Sanitary Sewer Manholes	\$99,000.00	\$120.00		\$26,400.00	\$225.00	\$49,500.00	\$375.00		\$82,500.00
852.3B	111	VF	Extra Depth 6" Sanitary Sewer Manholes	\$83,250.00	\$250.00		\$27,750.00	\$300.00	\$33,300.00	\$600.00		\$66,600.00
858.1A	129	LF	Concrete Encasement (8" pipe)	\$10,965.00	\$20.00		\$2,580.00	\$30.00	\$3,870.00	\$35.00		\$4,515.00
858.1B	1,293	LF	Concrete Encasement (10" pipe)	\$116,370.00	\$20.00		\$25,860.00	\$35.00	\$45,255.00	\$45.00		\$58,185.00
858.1C	554	LF	Concrete Encasement (15" pipe)	\$57,616.00	\$42.00		\$23,268.00	\$40.00	\$22,160.00	\$55.00		\$30,470.00
848/852	2	EA	Gravity Sewer Tie-Ins	\$4,000.00	\$700.00		\$1,400.00	\$1,500.00	\$3,000.00	\$2,000.00		\$4,000.00
866	6,661	LF	Sewer Television Inspection (all pipe sizes)	\$7,327.10	\$2.00		\$13,322.00	\$2.00	\$13,322.00	\$1.20		\$7,993.20
40.2.H.2 CoS	1,550	LF	Temporary Construction Fence	\$2,635.00	\$8.00		\$12,400.00	\$6.50	\$10,075.00	\$2.75		\$4,262.50
164	15,670	SY	Revegetation	\$5,484.50	\$1.00		\$15,670.00	\$1.00	\$15,670.00	\$1.00		\$15,670.00

Solicitation No.: B-11-059-CM Contract No.: C-12-003-CM SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS PROPOSAL: Verano PH 2 Sanitary Sewer Lines "A1" & "B" and Verano PH 2 Lift Station # 1 & 10-inch Force Main Project Job # 10-1528 & 10-1529 TIME & 02:00 P.M. DATE: January 10, 2012						San Antonio, Texas 78223			Austin Engineering Co., Inc. P. O. Box 342349 Austin, Texas 78734					
	Estimate Qty	Unit of Issue Description		Total	Unit Price			Unit Price			Unit Price		Total	
160 CoSA	15,670	SY	4" Topsoil	\$15,670.00	\$1.80		\$28,206.00	\$3.50		\$54,845.00	\$2.00		\$31,340.00	
100 COSA	13,070	31			\$1.80	ge		\$3.30	ge		\$2.00	ge		
			SUBTOTAL SAWS JOB NO. 10-1528	\$1,394,321.60		nta	\$1,678,637.00		nta	\$2,047,042.00		nta	\$1,593,980.15	
SAWS Jo	b No 10-1	1529				eo.			eo.			eo.		
SAWS LSG	1	LS	Lift Station # 1	\$520,000.00	\$350,000.00	Percentage	\$350,000.00	\$410,000.00	Percentage	\$410,000.00	\$850,000.00	Percentage	\$850,000.00	
540 CoSA	1	LS	Erosion & Sedimentation Controls	\$5,009.40	\$7,000.00		\$7,000.00	\$12,500.00		\$12,500.00	\$18,500.00		\$18,500.00	
2730	1,629	LF	10" HDPE Force Main	\$50,499.00	\$57.00		\$92,853.00	\$45.00		\$73,305.00	\$59.00		\$96,111.00	
846	1	EA	2" Sewer Air Release/Vacuum Assembly	\$2,700.00	\$3,000.00		\$3,000.00	\$3,000.00		\$3,000.00	\$2,900.00		\$2,900.00	
846	1	EA	10" Plug Valve and Box, complete	\$4,200.00	\$7,000.00		\$7,000.00	\$3,500.00		\$3,500.00	\$4,600.00		\$4,600.00	
LSG	1	EA	10" Force Main Tie-In to Existing 10" Force Main	\$2,500.00	\$3,000.00		\$3,000.00	\$2,500.00		\$2,500.00	\$2,000.00		\$2,000.00	
824/833	1,915	LF	2" Sch 40 PVC Water Service, w/1.5" meter & box, 1.5" Service Tap	\$22,980.00	\$15.00		\$28,725.00	\$8.00		\$15,320.00	\$26.00		\$49,790.00	
02500 TS	2,226	SY	SAWS Access Rd w/8" Flex Base & 2" Type "D" HMAC	\$66,780.00	\$35.00		\$77,910.00	\$27.50		\$61,215.00	\$22.58		\$50,263.08	
503 CoSA	60	SY	5" Concrete Driveway	\$3,300.00	\$80.00		\$4,800.00	\$55.00		\$3,300.00	\$25.00		\$1,500.00	
550	3,544	LF	Trench Excavation Protection	\$3,544.00	\$1.00		\$3,544.00	\$1.00		\$3,544.00	\$2.00		\$7,088.00	
217 TCEQ	1	LS	Force Main Hydrostatic Testing	\$7,200.00	\$2,400.00		\$2,400.00	\$2,500.00		\$2,500.00	\$3,000.00		\$3,000.00	
340 TxDOT	7,700	SY	CPS Access Roads	\$130,900.00	\$12.00		\$92,400.00	\$10.50		\$80,850.00	\$18.60		\$143,220.00	
164	9,100	SY	Revegetation	\$3,185.00	\$1.00		\$9,100.00	\$1.00		\$9,100.00	\$1.00		\$9,100.00	
160 CoSA	9,100	SY	4" Topsoil	\$9,100.00	\$1.80		\$16,380.00	\$3.50		\$31,850.00	\$2.00		\$18,200.00	
103 CoSA	26	LF	Existing Curb Saws Cut & Removal	\$780.00	\$50.00		\$1,300.00	\$40.00		\$1,040.00	\$10.00		\$260.00	
			SUBTOTAL SAWS JOB NO. 10-1529	\$832,677.40			\$699,412.00			\$713,524.00			\$1,256,532.08	
Bid Sur	nmary													

Solicitation No.: B-11-0 PROPOSAL: TIME & DATE:		Pronto Sandblasting & Coating & Oil Field Services Co., Inc. 9456 South Presa	I exas			Austin Engineering Co., Inc. P. O. Box 342349 Austin, Texas 78734						
Estim Item No. Qty	mate Unit of Issue	Description	Total	Unit Price			Unit Price			Unit Price		Total
	Lin	Subtotal SAWS Job No. 10-1528 (Sewer) Subtotal SAWS Job No. 10-1529 (Sewer) e Item "A" Subtotal Base Bid (10-1528 7 10-1529)				\$1,678,637.00 \$699,412.00 \$2,378,049.00			\$2,047,042.00 \$713,524.00 \$2,760,566.00			\$1,593,980.15 \$1,256,532.08 \$2,850,512.23
100	1 LS	Mobilization	\$220,000.00	\$210,000.00	8.8%	\$210,000.00	\$100,000.00	3.62%	\$100,000.00	\$200,000.00	7.02%	\$200,000.00
101	1 LS	Preparation of Right-of-Way	\$55,000.00	\$110,000.00	4.6%	\$110,000.00	\$110,422.64	4.0%	\$110,422.64	\$142,400.00	4.9956%	\$142,400.00
	MOBILIZATION &	PREPARATION OF R.O.W SUBTOTAL	\$275,000.00			\$320,000.00			\$210,422.64			\$342,400.00
TOTAL BID AMOUNT INCLUDING ADDENDUM # 1 (Line Item "A", Mobilization & Preparation of Right-of-Way) CALENDAR DAYS TO COMPLETE			\$2,501,999.00 180			\$2,698,049.00			\$2,970,988.64			\$3,192,912.23 180

[4] [5] [6] [7]